Moyemy BbibupaTe SHENZHEN LAUNCH ?

SHENZHEN LAUNCH saBnseTcs npoBepeHHbln no SGS , Bce MeTannmyeckme
n3genna n3 Haw KomnaHua HaxogAaTCA NMPOBEpPEeHHbIN C
y4acTUeM OTJINYHO KayecCTBoO.

Alibaba.com Gold Plus Supplier

Main Product Lines Verification Report

Presented to

Shenzhen Launch Co., Ltd.
AT EAL T BT R PR 2 R

B5003, Building 3, Yilida Building, No. 1092 Nanshan Avenue, Dengliang

Company Address Community, Nanshan Street, Nanshan District, Shenzhen City,
Guangdong Province, China

Consigner of Assessment: Alibaba

Gold Supplier Member |D: launch168

Gold Supplier Company Name:

Shenzhen Launch Co., Ltd.

Contact Person:

Mr. Binfeng Gao

Phone Number:

0086-13802569770

Fax Mumber:

0086-755-86372611

Email:

gbf999@china.com

Website Address (URL):

http:#launch-china.en.alibaba.com

& Global trade starts here.™

Service Provided by SGS
Report No.: 19536352_P+T

N
(7}




verified Alibaba.com Gold Plus Supplier

. . P Report No.: 19536352_P+T
Main Product Lines Verification

Cutting Machine XN 4 3 Acceptable
Laser Cutting
. MPS-3015D 1 % Acceptable
Machine
4.5M CNC
. PRATIC 1 3 Acceptable
Processing Center
CNC Processing
JNC 8 3 Acceptable
Meter
Shearing Machine 6X2500 2 3 Acceptable
Bending Machine AG-103011 3 Acceptable
Punching Machine N/A 36 6 Acceptable
Coating Line N/A 1 1.5 Acceptable
Lathing Machine N/A 1 6 Acceptable
Grinding Machine LITAO 4 6 Acceptable
Milling Machine TONG ZHENG 2 6 Acceptable
Welding Machine N/A 5 5 Acceptable
Tube Processing
i N/A 2 5 Acceptable
Machine

Cutting Machine Laser Cutting Machine 4.5M CNC Processing Center

Report No: 19536352_P+T Report Date: |09/Oct./201 9 Assessed By Wilof Wang
CONFIDENTIAL All Rights Reserved Page No: |6 of 10

NecTHWYHble Nepuna 1/2 "cTeknsHHbIN 6OKOBOM MOHTaX CTEKJIAHHbI
KPOHLUTENH NONYNAPHbIA AN3aH 4N BHYTPEHHUX Nepu.

1. TexHn4yeckne xapakTepuCTUKN CTEKISHHOro KpOHLIJTGI7IH8 -



1. Mogenb Ne SF-50

2. INAM 50mMMm

3. [lna ctekna TonwmHon 10-19 mm

4. MOQ 10 w

5. C 6bonTom M12 * 120 ond KpenaeHus Ha beToHe nan Wypynom ans gepesa
M12 * 72 pns KpenjeHus Ha gepese

. 7,1 ponn. CLWLA / wT Ha ocHoBe 6onee 100 wr.

(@}

2. doTorpadmm NecTHMYHbIX Nnepun 1/2 "cteknsHHaa 6okosas onopa

% ®
KEBILF} 5

3. YyepTex ansa SF-50



30

M12*%120 2

.d_

s
| 1 4 o
= — i

. 100 N
4. bonblue Moaenien KPOHLWTENHOB -

Part No. Material Finish Body Bolt size

= 30x10; 30x25mm

= SF-30 = 40x10; 40x30rmm = M10x120 bolt
o SF-40 = AISI 304 = Satin = 50x12: 50x30mm * 10272 wood screw
= SF-50 = AISI 316 = Miror | = 50%12; S0x50mm = MEx100 balt
= SF-504 = silicon rubber gasket  » Md x72 wood screw
included
Part No. Material  Finish ‘ Body Bolt size
| = hollow tvpe
. sp.agz "AISI304 = Satn | = 38x7.5:38x38mm = MExXTD haxagonal
= A5 316 = Mirmor = silicon rubber SLrEW
gasket included
| i
Part No. Material  Finish Body Mounling plate size
y = 50x10;50x30mm
« sppgr | " AISI 304 :E‘j"’“ « silicon rubber * 200x100x10mm
= AlS] 318 Mirror gasket included




